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Introduction
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The story was about a series of strange events happened during the HKDSE examinations. From overhearing examinations tips inside an elevator to being annoyed by a little kid on a bus, how would these lucks and misfortunes affect Jowell, the anxious HKDSE candidate’s performances? How would she respond? 
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The video explains clearly about externality. The examples are well-related to secondary school students. The viewers can feel the joy and stress of the video characters. They can understand the concepts easily, apply them to other scenarios, and make sensible decisions. 
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Key Question

What are externalities in daily life and how to deal with them?

Key Concepts

1. External benefit 
2. External cost
3. Social optimum and deadweight loss

4. Solutions to externalities
Learning Outcomes

Understand the concepts of externalities with daily examples and identify solutions to externalities.
True / False Questions
	1.
	Consider a transaction between a buyer and a seller. If the transaction adversely affects a third party and he or she is not compensated, there is an external cost.
	

	2.
	Education is commonly believed to generate an external benefit.
	

	3.
	Disturbance from a barking dog is not considered as an externality because externalities must be related to some forms of market transaction.
	

	4.
	Government intervention is necessary to get rid of all externalities.
	

	5.
	A marginal external cost is the cost to the producer when producing an extra unit of a good.
	

	6.
	Social cost is the sum of private cost and external cost.
	

	7.
	There is underproduction when private marginal benefit is less than social marginal cost.
	

	8.
	In an unregulated competitive market, the presence of external cost will result in overproduction.
	

	9.
	When there is an external cost, compensation should always be paid by the party producing external cost to the affected party to achieve efficiency.
	

	10.
	If private property rights are well defined and transaction cost is negligible, market exchange is possible to eliminate externality and attain efficiency.
	


MC Questions
1. When externalities exist, sellers and buyers

A) do not neglect the external effects of their actions, but the market equilibrium is efficient.

B) neglect the external effects of their actions, but the market equilibrium is still efficient.

C) neglect the external effects of their actions, and the market equilibrium is not efficient.

D) do not neglect the external effects of their actions, and the market equilibrium is not efficient.

2. Which of the following is an example of an activity with an external cost? 
A) Overhearing exam tips from a neighbour.
B) Keeping the front door clean.

C) Having to buy environmental friendly batteries for the new remote control that comes with a TV.
D) Speeding on a highway.
3. In the presence of an external cost, the cost to producers

A) is the same as the cost to society.

B) is smaller than the cost to society.

C) is greater than the cost to society.

D) may differ from the cost to society. 

4. Referring to the video, which of the following constitutes a case of divergence between private and social benefits?

A) A mad candidate shouts out loud during the examination.

B) A passenger plays and talks to her doll loudly on the bus, disturbing the person sitting next to her.

C) A candidate talks about DSE exam tips, which benefit another candidate.

D) A candidate extends the antenna of her radio. That interferes other candidates’ signals in a listening examination.
5. Fred and Franko share the living room in an apartment. Fred is a tidy person but Franko is very messy. Fred pays Franko to keep the living room clean and tidy. This is an example of

A) unclearly defined property rights.

B) an improper allocation of resources.

C) a private solution to an externality problem.

D) an exploitation of a common resource.

6. When private marginal cost is _______ than social marginal cost, the difference is called _______. In this case, the equilibrium quantity will be _______ than the optimal quantity. There is _______.

A) greater; external cost; less; underproduction

B) smaller; external benefit; less; overproduction

C) smaller; external cost; greater; underproduction

D) smaller; external cost; greater; overproduction

7. The sewage from a chemical plant pollutes a nearby river. It kills the fishes and hurts the earnings of fishermen.  Which of the following statement is correct?

A) There will be no water pollution if and only if the fishermen have a private property right to fish in the river.

B) Water pollution would be reduced if private property rights over the use of the river are established and market exchange is possible, regardless of the ownerships of these rights.

C) The external cost would be eliminated only if there is no water pollution.

D) In a social optimum where social marginal cost equals social marginal benefit, externality and pollution would both be eliminated.

8. Private markets fail to account for externalities because

A) sellers include external costs in the price of their product.

B) the transaction cost of using market to correct the externality is too high.
C) the government cannot easily determine the optimal level of pollution.

D) decision makers in the market fail to consider the effects of their behaviours to third parties.

9. Traffic congestion is common in the Cross Harbour Tunnel.  Drivers impose extra time cost to each other under traffic congestion.  Which of the following statement is correct?

A) Transaction cost would be too high for each and every driver to carry market exchange with one another to settle the externality.

B) As long as traffic congestion remains, there is an external benefit.

C) The number of vehicles using the tunnels is below the social optimal number.

D) The government can solve the problem by subsidising the tunnel users.

10. If your neighbour plays the piano such that you could hear the music clearly,

A) there may not be any externalities if you do not care.

B) there must be an external cost if your neighbour plays badly.

C) there must be an external benefit if your neighbour plays well.

D) All of the above are correct.

Discussion Questions

1. In the video, a student was talking over the phone about HKDSE tips in an elevator. Other passengers like Jowell (the main character) overheard the conversation clearly.

(a) If an externality is to be settled through market exchange, what conditions must be met?  

(b) Apart from the examples in the video, give an example of positive externality (external benefit) in your school life. Explain whether market exchange can settle the externality.  State the relevant assumptions.

2. Villagers in Choi Yuen Village (菜園村) were upset by land resumption for the construction of Guangzhou-Shenzhen-Hong Kong Express Rail Link (XRL). On the other hand, the government says XRL will facilitate transportation and encourage tourism. Many retailers in Hong Kong will be benefited from the railway.

(a) What are the external benefits and costs brought by XRL?

(b) Imagine that the villagers may raise fund and pay the government to stop the land resumption.  Do you think the villagers will go for this solution? Why or why not?

3. The video uses the case of an annoying little girl on a bus to illustrate the market solution to negative externality.  Jowell gave the little girl a candy to keep her quiet.

(a) Suppose you were the little girl on the bus.  Assume your private benefit of playing madly with the doll is $7. Under what condition(s) will you agree to take the candy and keep quiet?

(b) If Jowell’s private benefit from revision is $10, what is the maximum amount that Jowell is willing to pay for the girl to keep quiet? Explain.

(c) Given (a) and (b), explain whether market exchange among them is possible.

(d) Suppose there are 10 more HKDSE candidates on the bus. They want a quiet environment for their revision just as Jowell does. Do you think Jowell will still give a candy to the little girl? Explain your answer.

(e) Give an example of negative externality (external costs) in your school.  

4. In the days of seasonal flu, infected students are encouraged to put on masks and stay home. These protective measures help stop the flu transmission. 

(a) Are there external benefits or costs associated with wearing mask and not going to school? Explain.
(b) Do you think, in the days of seasonal flu, all infected students will take these protective measures? Why or why not?

(c) Most, if not all, governments subsidize their citizens to have vaccination. Explain the possible rationale behind.
Challenging Question
5. A common example of negative externality is smoking in public areas.
(a) What are the private costs for the smokers and social costs involved?

(b) Can market exchange between smokers and non-smokers settle the problem of externality?  Explain your answer.

In 2006, Hong Kong government had proposed an amendment to the Smoking (Public Health) Ordinance.  In 2007, a new smoking ban was established. Indoor smoking in restaurants and workplaces other than exempted bars, mahjong parlors, etc were banned.  Starting from 2009, all those previously exempted places would have to be smoke-free under the Ordinance.

(c) Before the smoking ban, many people had worked in a smoke-filled environment.  Keeping all other factors constant, consider two extreme cases:

(i) Suppose all workers prefer smoke-free to smoke-filled environment. Would you expect the salary for those working in a smoke-filled environment to be higher when comparing to those working in a smoke-free environment? 

(ii) If all workers are indifferent between smoke-filled and smoke-free environment, would you expect any salary difference?
(iii) Suppose, ceteris paribus, the salary of a bar tender drops after the smoking ban. Are all workers indifferent between smoke-filled and smoke-free working environment? Suggest a reason for this change.

(d) Suppose the government does not subsidise the public health care system anymore and patients need to bear the full cost to receive medical care. 

(i) How would this affect smokers’ private cost of smoking? How would this change the number of people affected by second hand smoking?

(ii) Would the external cost of smoking be completely internalised?

(iii) Do you support a complete ban on smoking in public areas? Discuss the arguments for and against this proposal.

Suggested Answers

True / False Questions

1.T
2.T
3.F
4.F
5.F
6.T
7.F
8.T
9.F
10.T

MC Questions

1.C
2.D
3.B
4.C
5.C
6.D
7.B
8.D
9.A
10.A

Discussion Questions

(a) First, private property rights have to be well defined. 

Second, transaction costs must be low enough for parties to engage in transaction and enforce the agreements.
(b) Posting well-written essays on the board benefits other students as they can learn from their peers. To settle the underproduction problem associated with this external benefit, one can reward the writers with some prize (say, a cash prize) as an incentive for more quality writing. However, it is difficult to coordinate all students to pay as some may try to ‘free-ride’.

(a) External benefits brought by XRL: more business/ earnings due to better transport and logistics and more earnings from increased number of tourists visiting Hong Kong.

External costs brought by XRL: evacuation of Choi Yuen villagers, drop of rental value in the neighbourhood during the construction; noise from the construction, and ecological damages.

(b) It is not probable for the villagers to pay for a cancellation of land resumption. In order for this proposal to work, the following conditions must be satisfied.

i. Transaction cost is low;

ii. Private property rights are well defined;

iii. The agreement is enforceable.

However, the cost to stop the land resumption may be so high that the villagers simply opt for compensation for relocation. In addition, there is a large number of villagers involved. Effective coordination among the villagers is practically impossible. 

(a) Benefit from getting the candy must be at least $7.

(b) The maximum amount Jowell willing to pay is $10. If the cost is too high, Jowell will choose to be disturbed.

(c) Yes, market exchange is possible as the maximum willingness to pay by Jowell ($10) is higher than the benefit of playing madly to (minimum amount required to keep quiet for) the little girl ($7).

(d) No. She is less likely to pay as all passengers can enjoy a quiet environment together once the girl stops playing. They will probably choose to free-ride and wait for someone else to pay.

(e) Taking exams while classmates nearby are making unbearable noises.
(a) External benefits.

(b) It is a standard underproduction problem. While the costs of wearing mask and not going to school are borne only by the infected, the benefits are shared among all (infected or not). Thus, we can expect that some of the infected students will not wear mask nor stay home. 
(c) There will be fewer infections if more people are vaccinated. In other words, vaccination generates a positive externality. This is an underproduction problem. Subsidizing vaccination can solve the problem and government may save medical expenses with fewer infections.

(a) Private cost of smoking in public areas: price of cigarette, worsening health of the smoker; health care cost paid by the smoker. 

Social cost of smoking in public: private costs mentioned above plus costs of second-hand smoking to by-standers; health care cost paid by the government. 

(b) No, market exchange among smokers and non-smokers is not likely to occur. There are too many parties involved, leading to coordination and free-rider problem. In addition, private property rights are sometimes hard to define in public areas.

i. The salary for those working in a smoking environment will be higher. The salary difference represents the compensation of working under an undesirable environment.

ii. The salaries will be the same.
iii. No. Some workers (for instance, those who are indifferent to working in the two environments) may prefer smoke-filled environment as they can earn more by working there. 

At the time when there is no smoking ban, the wage differential represents a compensation for a worker to work under a less preferred condition: the smoke-filled environment. With the smoking ban, however, there is no longer such a need. On the other hand, many customers in bars are smokers. They may go to bars less frequently due to the ban, and this may result in a drop of the demand for bar tenders and thus a lower salary.
(d)

i. Increase. Smokers smoke less due to an increase in the medical expenses, and fewer non-smokers will be affected by second-hand smoking.

ii. No, there still exist external costs (e.g., the health care cost of by-standing second-hand smokers). Thus, the consumption of cigarettes is still larger than the socially optimal quantity. 

A complete ban on smoking in public eliminates any external costs of smoking in public areas. However, if the social optimal level of smoking in public areas is positive, a complete ban will likely to be too prohibitive.
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